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B.A. S.Y. (Sem-lll)
1269 Sociology - VI (Contemporary Urban Issues)
Time: One Hour Max. Marks: 25

Instructions
Solve any 25 questions

1 Which of the following secondary relation is characterstic of society?
Tl eTUeh! SR Hee € Do FHT d1eeee 3AT8?

(A)Rural (B)Urban (C)Tribe (D)None of these
IEfor AR Tfeart Tt TET

2 In which nation urban sociology developed?
ARRY TSRS S D10 éi’ﬂﬁg:ﬂ?ﬂ?

(A)Japan (B)France (C)America (D)China
ST H 3R Elil

3 Which of the following factor related to occupation of urban society?
T I PO T TR FHIS el Hefa ame?

(A)Non-aggriculture (B)Aggriculture (C)Handicraft (D)None of these
KERIEIENID] Pl FIH™ R TR ATE

4 Which of the following factor is responsible to increase to urban population?

QAT BIVTT T AR SATRERET TS BRI 21m8?

(A)Socialization (B)Urbanazation (C)Role (D)None of these
HHTSTERROT ARYHROT ftrepT Tt Tl

5 Which type of family in urban society?
TR} FHTAI DO FPIR Pgd ATS?

(A)Joint family (B)Nuclear family (C)Extended family (D)None of these

6 Who defined, Urban sociology is related to suburb and urban social life?
TR} FHTALTE ITTR A0 AR Sirarreft Seifer omme € camean poft deft?

(A)Jon Grant (B)Merrium (C)Homer (D)Nels Anderson
S e aRgm R e fevE

7 Who said urbanism is a way of life?

RIS TR AR THISTTIT SiaT S0 51 3778 31 hiof} Tecel?

(A)Lindman (B)Loius wirth (C)Durkhiem (D)Robert park
forem e ad = e

8 Urban sociology is important because?
TR} FHTSITE FEaT 3778, HRT 2

(A)Anlysis of urban society (B)Remedies of urban problems (C)Urban planning (D)ALl of above
TR TS f%T9T e TR FERRIT IR ST TTSTUTHTSY TR RSS! ENCAIE]

9 Jamshedpur city known as?
SHIEYY STER FEULT 3Meeel .

(A)Industrial (B)Educational (C)Religious (D)None of these
affenfie sherforen Clikcy ITBY T

10 Which of the following is capital city?
AT PIOT IISTEHI AR TS?

(A)Mumbai (B)Patna (C)Panaji (D)ALl of above
¢ e <foreh e

11 Which of the following factor responsible for migration?
@Fﬁ?ﬁiﬁ?‘a’mﬁ? DYUYTH DT YD SR 311%?

(A)Job (B)Commercial (C)Education (D)ALl of above
GlEal ERIp) fereror ENERE]
12 Identify incorrect statement. In ancient period cities were?
T AL Silea I Picrd e Bl
(A)Industrial center (B)Commercial center (C)Religious center (D)Political center
13 Which is not type of unemployment?
SHRY AT DIV THR ATET?
(A)Seasonal Unemployment (B)Cyclical Unemployment (C)Technical unemployment (D)Political unemployment
B JBRY THT THRY qifAe Jert NEEIRECaN]
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14 Which type of unemployment?

SR PO HPR 3TS?

(A)Structural Unemployment (B)Seasonal Unemployment
FREATHD TP RIGEEaN]

15 Poverty is a....?
aRgz 3TTe.

(A)Social problem (B)Political problem
HTHTSTep FHEAT RISTh T FHET

16 Which of the following is not considered a social indicator of poverty?
ETeiieTidh P STRGITD TR fcere Aot STd ATer?

(A)Less number of transport (B)Employment level
ElEsCIRISIESIEI e ) [SESESIRIRE

17 When was the Juvenile court established in India?
AR 1ot AT €ATAT el HRUAT SATet!?

(A)1927 (B)1950

18 Which as an institution to rehabilate juvenile delinquents?

TS TR T QAR RUTTATST IO T 3182

(A)Juvenile court (B)Remand homes
CIGEIRIcT) 91T e 78 (RATS B)
19 Who introduced the term white collor crime?
gieRusft 78T 81 98 ivft e
(A)Giddens (B)E-burjesh
e EXNR

20 Which of the following is cause of prostiution?
TeIeTidh 9T STt SHIUT HIRT A2

(A)Social (B)Economic
HHTIS anfele

21 Which of the following is causes formation slum in India?

et eTdeh! PIOTCT PHRUTHO STSUCEH FHI0T BT ?

(A)Growth of populationl (B)Poverty
VDT TS TRgT

22 Which is type of delinquency?
TR TR PR AR,

(A)Individual delinquency (B)Organized delinquency
ERIEER Herctd Trel

23 Which is the social causes of Juvenile delinquency?
TR TN PRV BV 37722

(A)Poverty (B)Beggary
aiRgd IEEaN]

24 What does HUDCO?
T € e P B

(A)Housing (B)Urban planning
e TR M

25 Which of the following is an organization for housing?
77 {7 v SHIvTeT el 31R?

(A)JHUDCO (B)SIDCO

26 Which city in India has a monorail project?
HRATT PIUTT MexTd HIFRT Uhel 3T|%

(A)Pune (B)Bhopal
o e

27 Who is the author of book “The city’?
CARCIR R ICRICEC L R

(A)Brajesh (B)Lindman
ESKI e

28 When was started Jawaharlal Nehru Urbam Renewal Mission?
STATERETE %0 TSN AR} Gl SATHI sl o Sier?
(A)2000 (B)2005
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(C)Technical unemployment

RIEEEEA

(C)Religious problem
TiTen TR

(C)llitercy level
ERERIRE]

(C)1990

(C)Reformary schools
G 2T

(C)Sutherland

(C)Psychological
BIBIRED

(C)Scarcity of space

SIEIEEIS

(C)Situational delinquency
aRfexR T8

(C)Broken family

(C)Water supply

qrufigRasT

(C)MAHADA

(C)Mumbai

99

(C)Robert park
NECRICT

(C)2010

(D)ALl of above
R T

(D)None of these
TR e

(D)In-come level

ISR UTeredt

(D)1960

(D)AII of above
ERGASE]

(D)Durkhiem

g

(D)AII of above
R T

(D)AII of above
ERGASE]

(D)ALl of above
ERGASE]

(D)ALl of above
ENGASE]

(D)None of these
i AT

(D)ALl of above
R T

(D)Sagar

(D)Durkhiem

g

(D)2015
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29 When was the finance minister, when India adopted a new economic policy 1991?

1991 & YRAM T 31fefes GRr TfiehRer degrd 31l dior &ler?

(A)P.Chandmbaram (B)Dr.Manmohan Sing (C)Pranav Mukharjee (D)None of these
PIREECRC AT T YOI gt i AT

30 When was India adopted a new economic policy?
AR Tl 31fefep &Rvr pegt wfepret?

(A)24 July 1991 (B)1 January1995 (C)24 July 1956 (D)15 Auguest 1945
24 9e11991 1 STHaRT 1995 24 et 1947 15 3iTTT 1956
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